Sec 1.6.4
Solving Equations in Quadratic Form
....that are not quadratic
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5x2 + 11x'® 42 =0 ce==d5(x"3)2 +11x"3 +2 = 0
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Determine exact solutions-
%(_4 - 2x2 -7{18 =0
(X=8) (%6 1=0

{x=e dx=fe
;tZNI’Z_ X = t%[

Option.... Letu = x2

(x2)2 -2x2 -48 = 0

Since it's quartic with an x squared, we can use the

"x" method and not u-substition. WE STILL CAN'T

USE THE QUADRATIC FORMULA, HOWEVER.
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Letx=u2 &—

Removes reraaca. (- B)(U-5)=0
u=88%95
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(x-5)° + 7(x-5) -18 = 0
II;{eetv\L/jrit:ei(-5 ‘ZOI = X—S
U+ Tu-18=0 §-1=X]

(W + qXUK-Z)=O
=-942 =10
7K




(X2 -X)? -14(x?-x) +24 = 0
12=X=X
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-Suggested Practice-
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Determineu = ?

(x-5)2 -4(x-5) 21 = 0
Letu = x-5

x¥ -5x2 +4 = 0
none? use quadratic type x method
or

Letu=x2

x2/3 _o9x1/3 +8 = 0
Letu = x1/3

x2+3x1+2=0
Letu = x|

X+ 3x72-10=0
Letu2=x

g )2 -10=0






